s UMﬂ “e Professional & Industrial

INSTRUCTION MANUAL

ITEM NO.. EBS-B457, EBS-B457A
ELECTRIC BELT SANDER

BI@O00OWA ACER

EBS-B457(A)-1-1810B-X2



Mn“€=

Specification:
Free Speed Length Weight
Model No. Belt Size Versions of Volatge AC-in
(r.p.m.) inch | mm lbs kgs
13x457mm
EBS-B457 20,000 110-120VAC x 60Hz 16.3 | 415 | 3.02 | 1.37
(1/2"x18")
13x457mm
EBS-B457A 20,000 220-240VAC x 50Hz 16.3 | 415 | 3.02 | 1.37
(1/2"x18")
GENERAL SAFETY RULES
WARNING:

Read all instructions. Failure to follow all instructions listed below may result in electric shock, fire and/or serious injury. The term
“power tool” in all of the warnings listed below refers to your mains-operated (corded) power tool or battery operated (cordless) power
tool. Please make sure that the side cover has been closed properly before operating

Save These Instructions

Work area safety

1. Keep work area clean and well lit. Cluttered and dark areas invite accidents.

2. Do not operate power tools in explosive atmospheres such as in the presence of flammable liquids, gases or dust. Power tools
create sparks which may ignite the dust or fumes.

3. Keep children and bystanders away while operating a power tool. Distractions can cause you to lose control.

Electrical safety

4. Power tool plugs must match the outlet. Never modify the plug in any way. Do not use any adapter plugs with earthed (grounded)
power tools. Unmodified plugs and matching outlets will reduce risk of electric shock.

5. Avoid body contact with earthed or grounded surfaces such as pipes, radiators, ranges and refrigerators. There is an increased
risk of electric shock if your body is earthed or grounded.
Do not expose power tools to rain or wet conditions. Water entering a power tool will increase the risk of electric shock.
Do not abuse the cord. Never use the cord for carrying, pulling or unplugging the power tool. Keep cord away from heat, oil, sharp
edges or moving parts. Damaged or entangled cords increase the risk of electric shock.

8. When operating a power tool outdoors, use an extension cord suitable for outdoor use. Use of a cord suitable for outdoor use
reduces the risk of electric shock.

Personal safety

9. Stay alert, watch what you are doing and use common sense when operating a power tool. Do not use a power tool while you are
tired or under the influence of drugs, alcohol or medication. A moment of inattention while operating power tools may result in
serious personal injury.

10. Use safety equipment. Always wear eye protection. Safety equipment such as dust mask, non-skid safety shoes, hard hat, or
hearing protection used for appropriate conditions will reduce personal injuries.

1



11.

12.

13.

14.

15.

Mn“€=

Avoid accidental starting. Ensure the switch is in the off-position before plugging in. Carrying power tools with your finger on the
switch or plugging in power tools that have the switch on invites accidents.

Remove any adjusting key or wrench before turning the power tool on. A wrench or a key left attached to a rotating part of the
power tool may result in personal injury.

Do not overreach. Keep proper footing and balance at all times. This enables better control of the power tool in unexpected
situations.

Dress properly. Do not wear loose clothing or jewellery. Keep your hair, clothing, and gloves away from moving parts. Loose
clothes, jewellery or long hair can be caught in moving parts.

If devices are provided for the connection of dust extraction and collection facilities, ensure these are connected and properly used.
Use of these devices can reduce dust-related hazards.

Power tool use and care

16. Do not force the power tool. Use the correct power tool for your application. The correct power tool will do the job better and safer
at the rate for which it was designed.

17. Do not use the power tool if the switch does not turn it on and off. Any power tool that cannot be controlled with the switch is
dangerous and must be repaired.

18. Disconnect the plug from the power source and/or the battery pack from the power tool before making any adjustments, changing
accessories, or storing power tools. Such preventive safety measures reduce the risk of starting the power tool accidentally.

19. Store idle power tools out of the reach of children and do not allow persons unfamiliar with the power tool or these instructions to
operate the power tool. Power tools are dangerous in the hands of untrained users.

20. Maintain power tools. Check for misalignment or binding of moving parts, breakage of parts and any other condition that may
affect the power tools operation. If damaged, have the power tool repaired before use. Many accidents are caused by poorly
maintained power tools.

21. Keep cutting tools sharp and clean. Properly maintained cutting tools with sharp cutting edges are less likely to bind and are easier
to control.

22. Use the power tool, accessories and tool bits etc. in accordance with these instructions and in the manner intended for the
particular type of power tool, taking into account the working conditions and the work to be performed. Use of the power tool for
operations different from those intended could result in a hazardous situation.

Service

23. Have your power tool serviced by a qualified repair person using only identical replacement parts. This will ensure that the safety
of the power tool is maintained.

24. Follow instruction for lubricating and changing accessories.

25. Keep handles dry, clean and free from oil and grease.

Specific Safety Rules

(gained from repeated use) replace strict adherence to belt sander safety rules. If you use this tool unsafely or incorrectly,
you can suffer serious personal injury.

1.

Hold power tools by insulated gripping surfaces when performing an operation where the cutting tool may contact hidden wiring or
its own cord. Contact with a “live” wire will make exposed metal parts of the tool “live” and shock the operator.

Ventilate your work area adequately when you perform sanding operations.

Some material contains chemicals which may be toxic. Take caution to prevent dust inhalation and skin contact. Follow material
supplier safety data.

Always use the correct dust mask/respirator for the material and application you are working with.

2



Mn“€=

5. Always use safety glasses or goggles. Ordinary eye or sun glasses are NOT safety glasses.
6. Hold the tool firmly with both hands.

7. Make sure the belt is not contacting the workpiece before the switch is turned on.

8. Keep hands away from rotating parts.

9. Do not leave the tool running. Operate the tool only when hand-held.

10. This tool has not been waterproofed, so do not use water on the workpiece surface.

Save These Instructions.

WARNING:
MISUSE or failure to follow the safety rules stated in this instruction manual may cause serious personal injury.

ACCESSORIES

CAUTION:

These accessories or attachments are recommended for use with your SUMAKE tool specified in this manual.

The use of any other accessories or attachments might present a risk of injury to persons. Only use accessory or attachment for its
stated purpose.

If you need any assistance for more details regarding these accessories, ask your local Makita service center.

Mounting and Removing Abrasive Belt

To Install/Remove Belt :

1. Disconnect the electric power supply.

2. Flip the Belt Cover Latch up to release the Belt Cover.

3. Rotate the Belt Cover upward, exposing the Drive Pulley.

4. Pull back the Tracking Arm Mount to gain and hold slack in the belt.

5. Remove and replace the belt, then release the Tracking Arm Mount to regain tension in the belt.
6. Rotate the Belt Cover downward, and flip the Belt Cover Latch down, securing the Belt Cover.

7. Connect the air line.

8. Adjust belt tracking by turning the knob to the left or right as needed, while the machine is running.

Adjusting Belt Tracking

To Adjust Belt Tracking :

1. While the tool is running, turn the Tracking Knob to the left or right, so the abrasive belt runs centered over contact arm wheel.
(See Fig. 2.)

2. Always apply the returning side of the belt to the workpiece to maintain proper tracking.

Fig. 2 i
'.
S




Mn“elz

Mounting and Removing Contact Arms

To Install/Change Contact Arm :

8.
9.

N o gk~ wDd e

Disconnect the electric power supply.

Flip the Belt Cover Latch up to release the Belt Cover.

Rotate the Belt Cover upward, exposing the Drive Pulley.

Pull back the Tracking Arm Mount to gain and hold slack in the belt.

Remove the belt.

Remove the Tracking Knob.

Remove the Contact Arm and replace with the desired arm. Make sure the tab on the end of the arm is in the channel of the
Tracking Arm Mount. (See Fig. 3.)

Replace the Tracking Knob and tighten it into the threaded hole on the Contact Arm so the Contact Arm is as straight as possible.
Install the abrasive belt and secure the Belt Cover.

10. Connect the electric power supply and adjust belt tracking by turning the Tracking Knob as needed while the machine is running.

Adjusting Belt Housing and Handle Position

To Adjust Belt Housing Position :

1.

2.
3.
4

Disconnect the electric power supply.

Loosen M3 cap screws “A” and “B™: (See Fig. 4.)

Rotate the Belt Housing to the desired position. Detents indicate the positions within a 360 degree range.
Tighten M3 cap screws “A” and “B”:

To Adjust Handle/Lever Position :

1.

2.
3.
4

Disconnect the electric power supply.

Loosen M3 cap screws “C” and “D™: (See Fig. 4.)
Rotate the Handle/Lever to the desired position. Detents indicate the positions within a 360 degree range.
Tighten M3 cap screws “C" and “D™:

Fig. 4




Mn“e!

Brushless Electric Belt-Sander Overload and Overheat Protections

(1) 2-Step Overload Protection

a) The LED indicator will turn from a flashing green light into a flashing red light whenever the PCB detects a

power overload.

b) The tool will stop automatically within approximately 5 seconds to prevent long-term overloading damage.

The LED indicator will flash red until the tool stops.

c) Release the lever and push again to restart the Belt-Sander. The LED indicator will turn from a flashing red
light back into a flashing green light.

o

LY

Normal use Overload Stop Restart
5sec "‘
AN
Flash Green Light Flash Red Light Flash Green Light

(2) Motor Overheat Protection

a) The Belt-Sander detects for 2 temperature points (T1&T2) to initiate the overheat protection system. T2 is the
higher temperature.

b) When the motor temperature rises to T1, the tool speed may drop with heavy sustained usage, but may not
affect the speed with lighter usage. At T1, the LED indicator will flash red 3 times periodically. The Belt-Sander
can resume operation once it has fully cooled down and the LED indicator has turned back to a flashing green
light.

c¢) If not given an opportunity to cool down when motor temperate has reached T1, the temperature of the motor
will reach T2. The tool will automatically shut down automatically with 3 beeping sounds; the LED indicator will
also flash red 3 times periodically. Wait until the motor has completely cooled down and the LED indicator has
turned back to a flashing green light. During the cooling period, the user will hear 3 beeping sounds when
pressing down the lever. This shows that the tool is still under Overheat Protection mode.

Cool Down
Y A A e hH
AN} 1
1 )
~ ™ ~ T2
Normal use ]
Protection Point  * 3 Flash Red Light Stop Point
. * Speed drop
Flash Green Light EAheavy usage 3 beeping sounds

Cool Down ( 3 Flash Red Light )

(3) PCB Heat Protection

When the PCB reaches the protection point, the tool will stop automatically with 5 beeping sounds; the LED
indicator will turn into a flashing red light. The LED indicator will keep flashing red until the PCB has fully cooled
down. Once the PCB has fully cooled, it will turn back into a flashing green light. The tool can then resume
operation by pressing the lever again.



EU Declaration of Conformity (DOC)

We: SUMAKE INDUSTRIAL CO., LTD.
4F, No. 351, Yangguang St., Neihu District, Taipei City, Taiwan

declare in sole responsibility that the equipment
Equipment : ELECTRIC BELT SANDER
Model/ Serial No. : EBS-B457

The object of the declaration described above is in conformity with the relevant union
harmonization legislation:

J Machinery Directive: 2006/42/EC
J Electromagnetic Compatibility 2014/30/EU
. RoHS 2011/65/EU

The following harmonised standards and technical specifications have been applied:
. EN 62841-1
. EN 62841-2-4

Sound pressure level: No Load: 66.5 dB(A)

Noise level:
EN 62841 Sound power level: No load: 77.5 dB(A)
Uncertainty (K)= 3dB
Vibration level: No Load 1.93 m/s?
EN 62841 Uncertainty (K)= 1.5 m/s?
Name and Signature/Position Date and Place

2018/5/10

Taipei, Taiwan

EBS-B457-D-1805A-X2F




EBS-B457, EBS-B457A
ELECTRIC BELT SANDER, BELT SIZE: 13x457mm(1/2"x18")

EBS-B457(A)-P-1805A-X2



EBS-B457, EBS-B457A
ELECTRIC BELT SANDER, BELT SIZE: 13x457mm(1/2"x18")

PARTS LIST
No. Parts No. Description Q'ty
1 EOSB0049 File Belt Arm, (Standard Style) 1
2 XPA2031 Spring, Tracking Bias 1
3 EOSB0009 Tracking Arm Mount 1
4 EOSB0010 Tracking / Control Knob 1
5 XPA2039 Screw,Shcs (M3x5) 1
6 XPA2036 Spring-Belt Tension 1
7 XPA2038 Tracking Arm Post 1
8 XPAQ767 Hex Socket Countersunk Head Machine Screw (M4x10) 1
9 XPA2046 Dust Cover 1
10 XPA2024 Pin, 3x32mm 1
11 EOSB0050 Belt Cover And Latch Assembly 1
12 EOSB0012 Belt Housing 1
13 EOSB0056 Screw (M6) 1
14 EOSB0004 Cooling Fan(Small) 1
15 EOSB0065 Drive Pulley 1
16 EOSB0032 Motor 110-120V Assembly 1
EOSB0033 Motor 220-240V Assembly
17 EOSB0005 Cooling Fan(Large) 1
18 EOSB0057 Screw(3/8-24) 1
19 EOSB0011 0-Ring (O/R 30x1.5 N70) 1
20 EOSB0041 PCB(DC) 110-120V Assembly 1
EOSB0047 PCB(DC) 220-240V Assembly 1
21 S6-3006A Hex.Socket Button Head Screw (M3x6) 2
22 S6-3008A Hex.Socket Button Head Screw (M3x8) 9
23 EOSB0019 Motor Housing (Right) 1
24 EOSB0020 Motor Housing (Left) 1
25 S6-3014A Hex.Socket Button Head Screw (M3x14) 2
26 EOSB0042 PCB(Bridge) 1
27 S7-2006A Button Head Screw (M2x6) 7
28 EOSB0017 Handle(Right) 1
29 EOSB0018 Handle(Left) 1
30 EOSB0038 PCB (AC) 110-120V 1
EOSB0044 PCB (AC) 220-240V 1
31 EOSB0061 Spring 1
32 EOSB0023 Dust Boot 1
33 EOSB0022 Valve Stem 1
31 EOSB0006 Lever (AV) 110-120V 1
EOSB0007 Lever (AV) 220-240V 1
35 XPA2027 Spring Pin 1
36 EOQS50174-112 Power Cord Assembly 1
EOS50173-112 Power Cord Assembly 1
37 EOQS50105 Cord Support Plat 1
38 S5-3010B Hex Socket Headless Set Screw (M3x10) 2
39 EOSB0048 Dust Cover 1
40 DUST COVER Washer 1
41 WASHER Washer 1
42 WASHER Belt Cover 1
43 EOSB0064 Plug 2

EBS-B457(A)-P-1805A-X2




www.SUMAKE.com
www.AIRCOMPRESSOR.com.tw



MAKE JOBS BETTER THAN EVER

SUMAKE Industrial Co., Ltd. www.sumake.com 1SO 9001

Electric sander quality issue check SOP

Please provide warranty principle and check list to customer.

Please try to re-set and check if sander problem could be eliminated. Please refer SUMAKE
service center media category.
http://www.sumake-service-center.com/media.php?cid=13&page=2

If problem could not be eliminated after re-set, please ask customer to provide information

per check list.

Important:

A. Within warranty period, any quality issue please contact with SUMAKE first and do not
take apart sander without authorization, otherwise warranty will be NOT covered.

B. Any repair and maintenance task has to follow SUMAKE directly training education.

Please provide video to show sander defect situation and it would help engineer judgment.

The Principle of One Year Warranty

One-year warranty is after invoice shipping date.

The one-year warranty of SUAMKE electric sander product is under the normal usage

condition, any ABNORMAL usage or repair which is not following our training education or

with SUMAKE authorization is NOT covered in our warranty.

Exchange of the parts for repairing is free of charge under the one-year warranty excepting

the consumable parts such as sanding pad, bearing, and cable etc.

The one-year warranty will be invalid under following circumstances:

» The defects caused by wrong or abnormal usage or any unexpected accident.

» Any failure is caused by unauthorized product modification; we only admit original
product specification.

» Change any non-original parts or a component which is not supplied by SUMAKE.

» Any incorrect action for disassembly the products.

Maintenance check list_ 1808


http://www.sumake-service-center.com/media.php?cid=13&page=2

MAKE JOBS BETTER THAN EVER

;’ﬂ KAS
“ _SG§

0008

SUMAKE Industrial Co., Ltd. www.sumake.com ISO 9001  crsi i

Electric Sander Check List

1. Serial number of sander or sander model or motor serial number:

2. Material of work-piece or application, with picture if possible:

3. Number of sanding paper (#), with picture if possible:

4. Use sander with vacuum cleaner: [ | Yes [ ] No

5. Working environment temperature: C

6. Working time:
] HOURS/PER DAY [ ] TOTAL DAYS

7. Connected with an extended electric socket: | | Yes [ ] No

8. Major working speed :

[ ] 10,000rpm [ ] 9,000rpm [ ] 7,000rpm [ ] 4,000rpm [ | others

9. Kindly provide pictures of defect sanders & pad after use, or videos:

10. Recommendation or your valuable comments:

11.Company:
Date:

Maintenance check list_ 1808






